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ENGLISH VERSION

Instructions : (1) All questions carry equal marks.

(b)

(2) All questions are compulsory.
(3) Marks indicated on right-side.
(4) Use of statistical tables is allowed.

Explain :
(1) Market Equilibrium
(2) Monopoly.

. AR
In usual notations prove that M= S R-M.R and

obtain the market equilibrium price and quantity
D:p=46—6x2 and S:p=6+4x+2x2

OR

1 Write short note on :

ey
@)
3)
(4)

(b)

Demand and supply
Price elasticity of demand
Revenue Function and Cost Function

Price elasticity of supply.

Utility function of consumeris U = 45 y3 and budget

equationis x+2y=12. Find the value of x and y such that

utility function becomes maximum.

State and prove Euler's theorem for nth degree
homogeneous production function.

OR

10

10
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10

10
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2  Explain : 20
(1) Average Production and Marginal Production
(2) Utility function and Budget-equation
(3) Cobb-Web production function

(4) Monopoly and production of two commodities.

3 (a) Obtain the forecasting about sales of the following 10

different years taking coefficient of smoothing 0.30 and
initial cost 100.

Year(x) 2012 [ 2013 [ 2014 | 2015 [ 2016
Sales (y)

In crore Rs.

188 | 199 [ 212 | 227 | 231

(b) Explain method of Input-Output analysis for three 10
industries.
OR
3 (@) Technical coefficient matrix for two industries 10

A and B given below :

0.10 0.20
0.10 0.25
Find the total production for each industry for final

demands are 660 and 800 respectively.

() For the following data fit y=a+bx+cx° and forecast 10

the value of the year 2010 :

Year [ 2004 | 2005 [ 2006 | 2007 | 2008 | 2009
Value | 100 [ 107 | 128 [ 140 | 181 | 192

MAJ-7868] 6 [Contd...



4  Analyse the following Latin Square Design : 20

A |Cp|B | Ps
Cig|Bn|Pes| 4y
By D145 |C o
Doy |45 (C o |8y
OR
4  Explain the method of analysis of variance for one way 20

classification and two way classification through illustration

or examples.

5 (a) Explain the method of test of two independent of 10

two attributes.

(b) Fit Poisson Distribution to the following data and 10

test the goodness of fit at 5% level of significant.

No.of errors per page(x) | 0 [ 1 |2 |3 [4
No. of pages (/) 223 (142 |48 |15 |4

OR
5 (a) Explain : Type-I and Type-II errors, Statistic and 10
parameter.
(b) Explain : Null Hypothesis and Alternative 10

Hypothesis with illustrations.

OR
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5 (a) Explain the method to test the significance of

10

equality of two variances of two normal populations

(b) For two independent sample of the following

information obtained.

Sample | Mean | S.D. | Size
I 7 5.1 | 10
II 4 (3331 10

Test Hy:|u =W, at 5% level of Significance.
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